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1. Real GDP measures the (a) value of final market output in current dollars. (b)
changes in the prices of output in current dollars. (€} general upward drift in
consumer prices. (d) quantity of output produced in constant dollars.

2. Potential GDP is the (a) output produced by the economy with fully employed
resources. (b) current level of output produced in the economy. (c) level of output

produced when the economy is in a recession. (d) level of output produced when
the economy is at a peak.

3. During a recession (a) exports rise. (b) imports rise. (c) exports fall. (d) imports
fall.

4. Which of the following is not a cost of more rapid economic growth? (a} Current
consumption must be lost in order to develop new technology or new capital. (b)
Environmental damage may increase. (¢) Higher quality goods will be produced
in the future as a result of new technologies. (d} Jobs and consumption patterns
change more rapidly.

5. During a period of high inflation people increasingly devote resources to predict
the inflation rate, which represents (a) the ‘high nominal interest rate’ efect. (b)
why unemployment rises substantially during these episodes. (¢) why the foreign
exchange rate falls in value during these times.. (d) a cost of inflation.

6. Business cycles have two phases. These are (a) a recession and a trough. (b) an
expansion and a peak. (c) an expansion and a recession. (d) a peak and a trough.
7. An economic model is a description of some aspect of the economic world that (a)
excludes features not needed for the purpose at hand. (b) is better if it includes

most of the detail of the real economy. (c) relies on abstraction. (d) makes no
assumptions that have not been proved.

8. Which statement(s) of the following about money is(are) correct? (a) The most
direct way in which money replaces barter is through its use as a unit of account.
(b) To qualify as money, a commodity may have a value in exchange either equal
to or greater than its intrinsic value. (¢) During an inflation, the real value of a
commodity used as money remains constant, by definition. {d) Money is most
useful as a store of value when the nominal rate of interest equals the real rate of
interest.
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—. % 87— (classical inconsistency)1? (10%)
HEEREGRN T ERRN PR ST R, SENEEEREER? (20%)

—. BRI S RREEH (neo-classical growth theory) RENFEZ 208, Bensis b3
Hif:

1. B [RAEER k) B [EAEHAE y* I; (10%)

2. HEREFENHEAREFR (golden rule level of capital) k%; (10%)

3. HEREFENEEREE o, URPAEEEER. (10%)

HEEH:

§ = HARBE = 8%, n= ADIREE= 2%, s = 5% — 20%,
Y = BEEN, K = BEAR, [ - REHE (= §AD),
y=Y/L=8AEN, k= K/L=8AEx%,

* = REPISHRE, g = HFARSTHRE,

7.5% a2 3164, 7.5 ~ 1.65,

SERM: Y = LYAKY4,
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10 questions, each with 10 points

1. Calculate the price and cross-price elasticities of demand for rice.
The rice demand function is
Q=cy—a-F+p-F+y¥,
where O is the quantity of rice demanded per year, P, is the price of
rice, P, is the price of the major substitute for rice, Y is the income of

consumers, and ¢y, 48,y are all positive constants.  Assume P, 1s

initially 25, P i5 40, and O is 1200.

2. A firm’s average cost s AC = a-g# , where «>0. How can you

interpreta? What sign must 8 have if there is learning by doing?

What happens to average cost as g gets large?

3. Can a firm be a natural monopoly if it has a U-shaped average cost
curve? Why or why not?

4. In harmonizing its patent laws, the European Community outlawed
exportation of certain chemicals used in 85% of U.S. generic drugs.
This prohibition may delay the entry of generics onto the U.S. market
by two to three years, a circumstance favoring U.S. patent holders,
who already have enough chemicals to produce their own generics.
What is the likely effect of this law on drug prices in the United
States?

5. Suppose that identical duopoly firms have constant marginal costs of
$10 per unit. The demand function that each firm faces is

g; =100-2p; +p;, i, j=lor 2,andi = J.
i) Solve for the Bertrand equilibrium;

ii) Selve for the Bertrand equilibrium if both firms have a marginal
costs of $0 per unit.
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6. To discourage people from breaking the traffic laws, society can
increase the probability that someone exceeding the speed limit will
be caught and punished, or it can increase the size of the fine for
speeding. Explain why either method can be used to discourage
speeding. Which approach is a government likely to prefer, and
why?

7. What is the mixed-strategy Nash equilibrium for the game below?

Player 2
L R
u 2,0 ~ 3.2
Player 1
D| -1,9 \ 5.7

8. There are many buyers who value high-quality used cars at the
full-information price of p; and lemons at p;. There are a limited
number of potential sellers who value high-quality cars

atv; < pj andlemonsat v, < py.  Everyone is risk neutral. The share of

lemons among all the used cars that might potentially be sold 158 .
Under what conditions are all cars sold? When are only lemons sold?
Are there any conditions under which no cars are sold?

9. What is the Coase theorem?

10. Give an example to explain the Coase theorem in detail.
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Answer the following five questions, equally weighted

1.(20%)

Suppose that a random variable X has a uniform distribution on the interval
(0,1). Determine the p.d.f. of (a) X2 and {b) X1/2,

2.(20%)

Suppose that X and ¥ have a continuous joint distribution for which the joint
p.d.f. is as follows:

_Jrzty for 0<2<1 and 0<y <1,
Fl.y) = { 0 otherwise.

Find E(Y|X) and Var(¥|X).

3.(20%)
Suppose that Xy, ..., X, form a random sample from a distribuiion for which the
p.d.f. f(z;8) is as follows:

oy [ 63 for 0<z <1,
J(z:0) = { 0 otherwise.

Also, suppose that the value of § is unknown (¢ > 0). Find M.L.E. (maximum
likelihood estimator) of 6.

4.(20%)
Suppose that a random variable X has a Poisson distribution for which the mean
@ is unknown (¢ > 0). Find the Fisher information I #)in X,

5.(20%)

Suppose that a random sample of 8 observations X;, ..., Xg is taken from a normal
distribution for which both the mean g and the variance o2 are unknown; and that
is desired to test the following hypotheses: Hy : p#=0; Hy: pu#0. Suppose
also that the sample data are such that 350} X; = —11.2 and 35 X? = 43.7.
If a nonsymmetric test is performed and that the hypothesis Hy is to be rejected
if the statistic U is such that U < ¢, or U > ez, where Pr(U < ¢;) = 0.01 and
Pr{U > ¢3) = 0.10. Should Hy be accepted or rejected ? Why ?
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954 APPENDIX G + Statistical Tables

ou
100

12.766
4.303
3.182
2776
257
2.447
2365
2.306
2.262
2228
2.201
2179
1160
2.145
2131
2.120
2110
2101
2093
2086
2,080
2074
2069
2.064
2060

2056

2452
2,048
2045
2042
2030
2.021
2.014
2009
2.000
1.904
1.930
1.687
1.984
1960




